Solve each system by graphing.

Systems of Equations ...

1
1) y=——x—-4
4
5
y=—x+2
4
A
J G FY ER 0 -
Y
3) Tx—y=3
x—y=-3
A
I G ET ER PR (R -

Elimination
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Systems of Equations ...

Solve each system by substitution.

5) x+8y=-15
Tx+8y=-9

7y y=-Tx+1
Sx+4y=-19

Solve each system by elimination.

9) 6x +2y=-0
Tx+4y =38

11) -6x—-9y=0
—24x =306y

Elimination

6) Sx—Ty=11
x—2y=-9

8) —O9x—-3y=-2
y=-3x-4

10) Sx+3y=15
10x + 6y =20

12) -3 -3y=12x
-5 —y=2x



Systems of Equations ... Elimination
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Solve each system by graphing.

2) y=2x+3
y=—4x-3
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4) 3x+4y=4
3x+4y=—-16
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No solution



Systems of Equations ...

Solve each system by substitution.

5) x+8y=-15

Tx+8y=-9
(1.-2)
7y v=—Tx+1
Sx+4y=-19
(1.-6)

Solve each system by elimination.

9) 6x+2y=—-06
Tx+4y =8

(—4.9)

I1) -6x-9y=0
—24x =306y

Infinite number of solutions

Elimination

6) Sx—-Ty=11
x—2y=-9

(-5.2)

8) —9x—-3y=-2
y=-3x—-4

No solution

10) Sx+3y=15
10x + 6y =20

No solution

12) -3 -3y=12x
S —y=2x

(2.-9)



